10.

1.
12.

13.
14.

15.

SOLUTIONS
(3)-(V3y*
=6
g or 5"
/256 or 125
NN
-X 2x 3
s) (6)-(3)
x=3
(17-5(1)+7
Remainder = 3

One or No
P [not E] = 1-p [E]
=0.63
3x+15 =90°
x =25°
or
x+57=180°
x=123°
3x+2x = 180°
x= (@)
5
=108°, 72°
/B=,C
.. ABC =60°
OR
AB is largest side
No, because sum of two sides is equal to third side
15°+90°+x = 180°
x=75°
60°, 120°, 60°, 120°
x=20° or Semicircle

Chord = 4v5cm
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16.
17.

18.

19.

20.

21.

22.

300%
(a) (iii) 23
(b) (ii) 12.35
(c) (i)12.5

(d) (iv) 16

(e) (ii) 20 students
(@) (i) 15m

(b) (iii) 562.7m’
(c) (i) 226.3m’
(d) (iii) 792m?
(e) (iv)Z7920
(a) (iii) 120°
(b) (ii) 180°

(c) (iii) 15cm
(d) (ii) 5cm

(e) (i) 5¥3cm
(a) (i) (5,7)
(b) (iii) 4m

(c) (ii) 9m

(d) (iii)18

(e) (iv) 30m

a
b
¢
d
e

Letx =0.47
10x=4.7
100x = 47.7
90x =43

= (5
90
or
(256)0.25
N
= (4%
=4 Ans

x+7x =7
squaring both sides
X+ L+ 2=49

X

Part B
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23.

24.

25.

26.

x2+iz=47

X

OR

e

" (3eomo(dForeo(d)on

= %x3+ 27y° + X"y + Oxy?

2x-y=4
Putx=0=2(0)-y=4
y=-4
Puty=0=2x-0=4
x=2
Putx=1=2(1)-y=4
y=-2

Put y=2 = 2x-2=4

x=3

x 0 2 1 3
y 410 2|2

AOC + BOC = 180 (Linear Pair)
2 Z/COP +2 ~2Q0C = 180°

0OQ bisects ZLAOC
ZCOP + £Q0C =90°
= /P0OQ = 90°
2x+3x+4x = 180° (Angle sum property)
x=20°
~.Angles : 40°, 60°, 80°

(.‘.OP bisects #/BOC )

Result Tally Marks Frequency
0 M 6
1 MM 10
2 T 9
3 LN 5

30
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27.

28.

20.

30.

L.H.S.
3 ,N3-1, 5  3+1
V3+1 3-1 \3-1 V3+1

3V3-3 | 5\3+5

2 2
_ 3v3-3 +5V3+5
2
_ 8V3+2  _ 4\3+1
2

Now 4v3+1 = a+b\3
= a=1; b=4

(x+1), is one factor of x’+6x*+11x+6

xX+1/ f+6x2+1 1X+6 \ X2+5X+6
3

+ X

5 +11x+6
ﬁzc{;i 5x
6x+6
6x+6

0

X’+6x°+11x+6 = (x+1)(x*+5x+6)
= (x+1) (x+2) (x+3)

(a+b+c)’ = (12)?
a’+b’+c’+2(ab+bc+ca) = 144
90+2 (ab+bc+ca) = 144
ab+bc+ca = 27
Now a’+b’+c’-3abc = (a+b+c) (a’+b*+c*-ab-bc-ca)

= 12 [90-27]

=756
In AABC
L1+22+23=180° —— D
(Angle sum property)
In ADC
L4+/5+/6=180° —— (D
Adding 1 & 2
AN+ /£2+/3+/4+/5+ /6 = 180°+180°

D C

7 D
4 2
1 4

A B
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31.

32.

33.

34.

/A+/B+/C+/D = 360°
OR

In A's AOD and ACOB

AO = OC (Given)

OD = OB (Given) 2
Z/AOD = #ZCOB (Vertically Opposite Angles)
= AAOD = ACOB by SAS
= Z0OAD = Z0OCB by C.P.C.T
But this makes alternate angles Y
.. AD || BC
Hence ABCD is a parallelogram
A 5cm B
S = 16+30+32
2
=40
arof A =+s(s-a) (s-b) (s-c)
=40 (40-16) (40-30) (40-34)
= V40x24x10x6
= V2X2x2X5x2x2x2X3X5Xx2X2X3
=240sqcm
. - we 31 — wes —
(i) %— 0.46 (i) 555= 0-31 (iii) % =0.39
OR
27 - 1 -
(i) 2= 7 (i) 22=21
2x+5y=10:>y=% x| of 5
2x+3y=6 = vy= % 210
X 0 3
2| o
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35.

36.

Point of intersection is (0,2)

Given : Arc AB of a circle with centre O subtends ZAOB at the centre and
Z/ACB on the remaining part of the circle

Toprove: ZAOB=2 Z/ACB
Construction : Join CO and produceitto Q.
Proof: InZOAC, OA=0C

. /L3=/5

Also, £/1=/3+/5

or/1=/3+/3

A A P— (i)
Similarly, /2=2/4 --------—-—-- (ii)

Adding (i) and (ii)
1+ /2=2(£3+/4)
= /AOB =2/ACB Hence proved
x= 1 (50°+30°)

2
x=40°
Here,r=84 =42cm=0.42m
2
h=1.5m
C.S.Aofroadroller =2x%x0.42x1.5

=3.96m’
Area of ground = 3.96 x 100 = 396m’
Costof frequency =396 x 2.50 =990
OR
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let radius of cone = 3x
and height of cone = 4x
v= 1 nrh

3

301.44=%x3.14x3xx3xx4x

301.44=3.14x12x°

330144 _
T 314x12 =8

=x=2

radius=3x2=6cm
height=4x2=8cm
1=~6"+8”=100=10cm
CSA=nrl=3.14x6x10 = 188.4cm’
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